WRpi244F 3 H OEKGOEAK (KiE

F244F 3 A DKEKDBERERERHRICD
K) DESEORERRE BRI LT LET,

LT

1 &BT%KE (FHR) - IFINKR)
HAT : Ba/kg
sk H B T 55 B > A Wt > A
(3 75 131) (B 7 4 134) (7 A 137)
SHILIH | M (BHERSME 0.7 )| A BHERSME 0.7 )| A BEHRMME 0.7 )
SH2H | A (BERME 0.8 )| R (BERAME ) | A G ERSMYE 1)
SH3H | A (BHERFME 0.9 )| A (BERFME 0.9 )| A GRERAE 0.8 )
3HA4H | A (BRHFESE 0.8 ) | ARt (BHHBRSME ) | A BRHERSME 0.9 )
SHBH | A BRIRSME 0.8 )| AL BRIDERYME 0.8 ) | Al BRINIRSYE 0.9 )
3AH6H | AR BHERSME 0.7 )| A (BHERME 0.7 )| A BREHRMMYE 0.8 )
SHTH | A (BHERFME 0.8 )| A (BRERFME 0.8 )| A BRERAME 0.9 )
SH8H | A (BHERFME 0.7 )| A (BRERFME 0.8 )| A BRERAE 0.9 )
SHO9H | MR BRHBRSME 0.7 )| A BREESFME 0.9 )| A GREBEAE 0.9 )
3H 108 | AR BERHRFYE 0.7 )| AR (BHRAYE 0.7 ) | Ak GREIERFYE 0.8 )
SHILH | Ak BRHERFYE 0.8 )| AR (BHRAME 0.8 ) | Akl RHERFYE 0.8 )
SHI2 A | Al BRHFRFE 0.7 )| A BEHRAME 0.9 ) | Al GREERFME 0.9 )
3H I3 H | Ak BEHERAME 0.7 )| Ak BHRAME 0.8 ) | Ak (BRHFRSYE 1)
SHI14H | A RHRAME 0.7 ) | Akl BRERFYE 0.9 )| Al GRERFME - 0.9 )
SHI5 A | Al BRHRFE 0.7 )| AR BHHRAE 0.9 ) | A GREIERFYE 0.9 )
3H 16 A | Ak BRHRFE 0.7 )| A (BUHRAME 0.7 ) | Ak GREIERFYE 0.9 )
SHITH | Al (BRHIRFYE 0.8 ) | A (BERAME 0.7 ) | A GRHERFYE 0.7 )
3SH I8 H | Ak BRHFRAME 0.7 )| Ak BEHRAME 0.7 ) | Sl GRHERFYE 0.9 )
SHI9H | Al BHERAME 0.7 )| Ak BHRAYE 0.8 ) | Al BRHERFYE 0.9 )
3SH20 R | Al BRERFYE 0.7 )| AR BEHRAYE 0.8 ) | Al BREERFYE 0.9 )
SH21H | e BRHIRSME 0.7 )| A BRERAE 0.8 ) | Rl GRHBEFRME 0.9 )
3SH22H | A (BRMIRSME 0.8 ) | A BERAE 0.9 ) | Rl GRHEBRRME 0.9 )
3H23H | Ak BRHFRAME 0.8 )| Ak BHRAME 0.8 ) | Sk RHERFYE 0.8 )
3H24 8 | Al (BRIEIRFE 0.8 ) | A (BEHRFME 0.8 ) | Al GREERFME 0.9 )
3H25 A | Al BRIIRFYE 0.7 ) | A BEHRAYE 0.8 ) | Al RHERFYE 0.8 )
3H 26 H | AR RS 0.7 ) | Ak BRERFYE 0.9 )| Al GrERFME 0.8 )
SH2TH | Ak BEIHRFME 0.7 )| AKH BHRAYE 0.8 ) | Ak GRHIERFYE 0.8 )
3H28H | AR BRIIRFYE 0.7 )| A (BUHRAE 0.8 ) | Ak RHIERFYE 0.8 )
3H29H | A (BRIHIRFYE 0.8 ) | A BHRAME 0.8 ) | Al GRHERFME 0.9 )
3H30H | Al BRIIRFE 0.9 )| A BERFE 0.9 ) | Al GREERFYE 0.9 )
3H3LH | A RS 0.7 )| Ak BRERFYME 0.9 )| Al GRERMME - 0.8 )
X1 BROKIER] : /PR 6 I
X2 AR KEREUF—
X3 TERHIBRFVE) L3, BA&IC TRHTEZ2R/MED Z L2 WWET, HREORMEL LT, [ U T
%#ofrﬁmﬂ%m@ﬁmowJ&i B T& D5
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2 EEHKE (R - F"IKR)
HAL : Ba/kg
sk Rt a vk B > o A Rt T A
(5 73 131) (B> A 134) (B> 4137)
SH1HR | Al GRIFRAME 0.8 ) | Al GRIIBRRME 0.7 ) | AR RIBESAYE 0.9 )
3H2H | A GRHEFRFME 0.8 ) | A GRHIERFME 0.8 ) | AR BHRSFYE 0.9 )
SH3H | A (BRHERFYE 0.7 )| A BRERFME 0.9 )| A BRERAYE 0.8 )
SHA4H | A GBRIERSME 0.8 )| A BRHERAME 0.7 )| Al GEHEEAME 0.9 )
SHB5H | M BRHERSME 0.8 )| A BRHERAME 0.8 )| Al GBEHEEAE 0.9 )
3H6H | A BREIRAE 0.8 ) | A (HBRFE 0.8 ) | AFH (BHEFE 0.8 )
SHTH | Al BRIBRSME 0.7 )| AR BRIRYME 0.8 ) | AL GRIHRSYE - 0.8 )
SH8H | A (BRHRFME 0.7 )| A BRHERFME 0.7 )| A BRHRAYE 0.9 )
3SH9H | At GREFRFME 0.7 )| A HEFRYME 0.7 ) | AR BHRMME 0.7 )
3H 10 B | AR BRHERFME 0.7 )| A KR AE 1 )| A GREERE 0.9 )
SHIL A | Ak BRMEFYE 0.7 )| AfH  BHERAE 0.8 )| Af BHBRFE 0.7 )
SHI2H | e (BRMIRSME 0.6 ) | AR BRERAME 0.7 ) | R GRHEBRSME 0.8 )
3H13A | Akt BRHIRFYE 0.8 )| Ak (BHEIRAE 0.8 ) | A (BHIRFYE 1)
3H 148 | Ak GBRERFYE 0.8 )| Ak BHERAME 0.9 )| AR BHERAMYE 0.9 )
3H 15 A | Al BRIERFE 0.8 ) | A BHRAME 0.9 ) | Al REERFYE 0.9 )
SHI16 A | Al BRIIRFE 0.7 ) | A BEHRAYE 0.8 ) | Al GREERFYE 0.9 )
SHITH | i BRMIRSFE 0.8 ) | A BRERAE 0.8 ) | Rl GRHRFME 0.8 )
3H18H | Al CBRMEFYE 0.7 )| A8 BHEERAE 0.8 )| Al BHEFE 0.9 )
3H19A | ket GRIRFYE 0.7 )| AR BRIDERAME 0.8 ) | Al RIIBRSYE 0.8 )
3H20H | Al BRIIRFME 0.7 )| A BEHRAME 0.8 ) | Al REERFME 0.8 )
SH21H | Al GRHERSYE 0.7 )| Ak ERAME 0.8 ) | AR (BHRAMYE 0.9 )
SH22H | Al BEMIRFME 0.9 )| A BRIERAE 0.9 ) | Rl GRHRME 0.8 )
3H23H | Ak BRMEFYE 0.7 )| AR (BHEERAE 0.8 ) | Af (BHEFE 0.8 )
3H24 0 | AR BRIIRSME 0.7 )| A BERAME 0.9 ) | Al GRHBRRME 0.8 )
3A25H | A BRHEMRAME 0.8 )| AHE  (BHEAME 1 )| Ak RHRSME 0.9 )
3H26 R | Ak GBRERFYE 0.7 )| Ak BERAME 0.7 ) | AR BHRSYE 0.8 )
SH21T A | Al BRIEFRAE 0.8 ) | AR (BHHRAYME 0.8 ) | Al GREERFYE 0.9 )
3SH28 A | Al (BRIIRFYE 0.8 ) | AR BEHRAYE 0.8 ) | Al (BRHERFYE 0.8 )
3H29H | Mt BRIMIRSME 0.8 ) | A BRERAE 0.8 ) | Rl GRHEFRME 0.9 )
3H30H | AR (BRIMIRSYE 0.8 )| A BERAE 0.8 ) | Rl GRHRSRME 0.9 )
3H3LA | At GRHRFYE 0.7 )| AR BHERAME 0.9 )| AR BHRSYE 0.8 )
M1 BROKIER] @ 7R 6 I
W2 MRS o KE R —
X3 THRHIIRFYE) L3, MAEICBOTRIHTE 2RK/AMED Z L 2V ET, S @%@k LT, [AUHIRT
BRELTH, BRIES & DR HERE L) Liﬂ” TR O H BR R0, 8) | k 2T X BB

/MBS 0. 8Bq/kg THV,

£
Z DIRDFEESVER B IR L 1L 10. 8Ba/kg AR T&H 5 | _k%%%biﬂ”o



3 IMEFRKIE (BENIKR)
BAAL : Ba/kg
sk e SRR B > o A Rt T A
(5 736 131) (B> 7 A 134) (B> 4137)
SH1AR | At GRIBFRAME 0.7 ) | Al GRIBEBAME 0.9 ) | AR BIBESYE 0.9 )
3H2H | A GREEFRFYE 0.7 ) | A GRHBRSME 0.9 ) | AR BHRSYE 0.8 )
SH3H | A (BRHERFYE 0.8 )| A (BRHERFME 0.8 )| A BRERAYE 0.8 )
SH4H | A GRIERSME 0.8 )| A BRHERYME 0.8 )| A GEHERME 0.8 )
SHB5H | A GRHERSME 0.7 )| A BRHERAME 0.8 )| Al GEEEAE 0.9 )
3H6H | A BREIRAE 0.7 ) | A BHBRRE 0.8 ) | AFH  (BHIERE 0.8 )
SHTH | Al BRIDRSME 0.8 ) | AN GBRINRSME 0.7 ) | ARl GRILFRSYE 1)
SH8H | A (BRHRFME 0.7 )| A BRHERAME 0.9 )| A BRHRAYE 0.8 )
3SHO9H | At GREEFRAUME 0.7 ) | A GRHEEFRYME 0.7 ) | AR BHRAMYE 0.8 )
3SHI10 A | Al BRHERFYE 0.7 )| AR (BEHRAE 0.8 ) | Al BHERFYE 0.9 )
SHILA | AR BRHRFE 0.8 ) | AR (BHRAYE 0.9 ) | A GREIEBRFYE 0.9 )
SHI2H | e (BRHIRSME 0.8 ) | A BRERAME 0.9 ) | Rl GRHEBESRME 0.9 )
SH13A | Akt BRHIRFYE 0.8 )| Ak (BHEIRAE 0.8 ) | AR BHEFE 0.9 )
3H14 A | A GBRERFYE 0.8 )| Ak BHERAME 0.8 ) | AR BHRAMYE 0.8 )
3H 158 | Al BRMEFYE 0.8 )| Ak (BHERAME 0.8 ) | A (BHRME 0.8 )
3H16 8 | ARt BRMEFYE 0.8 )| AfH  BHERAE 0.7 )| ARl BHBRFE 0.9 )
SHITH | i BRMIRFE 0.7 ) | A BRERAE 0.8 ) | Rl GRHRSRME 0.9 )
3H18H | Al (BRMMEFYE 0.8 )| AW (BHERAE 0.8 )| Al BHEFE 0.8 )
3AH19A | Akt GRIRFYE 0.8 ) | A BRIERAME 0.9 ) | Al RIIERSYE 0.9 )
3H20H | AR BRMEFYE 0.7 )| A BHERFE 0.9 )| Al (BHERSYE 1)
SH21 B | Al BRERSYE 0.7 )| Ak (BERAME 0.8 ) | Al (BHFRAYE 1)
SH22H | A BEMIRAME 0.7 )| A BRIBAE 0.5 ) | Al GEHIFRSYE 1)
3H23 A | Ak BRMREFYE 0.8 )| AfH  (BHRAE 0.9 )| Afl BHEFE 0.9 )
3H24 0 | AR (BRIMIRSME 0.8 )| A (BEHRAME 0.8 ) | Rl GRHBREME 0.9 )
3H25 B | Al BRIIRSME 0.7 ) | A BERAME 0.7 ) | A GRHERSYME 0.8 )
3H26 R | Akt GBRERFYE 0.8 )| Ak BERAME 0.9 )| AR BHERSMYE 0.9 )
3H2TH | Al BRMRFYE 0.9 )| AR BHEERAE 0.8 )| Af BHERFE 0.9 )
3H28 8 | ARt BRMEFYE 0.7 )| AfH  BHERAE 0.9 )| Al BHBERE 0.8 )
3SH29H | i BRMIRSME 0.8 ) | A BERAME 0.7 ) | Rl GRHEBREFME - 0.9 )
3H30H | AR (BRMIRSME 0.9 )| A (BERAME 0.8 ) | Rl GRHRRME 0.9 )
3H3LA | At GRHRFYE 0.8 )| AfH  BHERAME 0.8 ) | AR (BHRSYE 0.8 )
M1 BROKIER] : 7R 6 I
W2 MRS  KE R —
X3 THRHIIRFYE) L3, MAEICEOTRIHTE 2R/AMED Z L 2V ET, S @%@k LT, [AUHIRT
BRELTH, BRIES & ORHERE L) Liﬂ” TR (R H BR R0, 8) | k R T X BB

/MBS 0. 8Bq/kg THV,

£
Z DIRDIEESVER B IR L 1L 10. 8Ba/kg AR TH % | _k%%%biﬂ”o




4 FFHLEIKIE (FIARII - FTIAKR. BEIIKR)
BANZ : Bq/kg
Ak H B v 5 B > o A B > T A
(a3 % 131) (B 4 134) (7 40137)
SH1AR | Al BIFRAME 0.8 ) | Akl GRIIBRAME 0.8 ) | Akl (BRIIRSMYE 1)
3H2H | A BRHEFRFYE 0.8 ) | Akt GRHIBRHME 0.8 ) | A (BRIHRSYE 1)
SH3H | A (BRHERFYE 0.8 )| A (BRERFME 0.7 )| A BRERAYE 0.9 )
SHA4H | A GRIERSME 0.7 )| A BRERAME 0.9 )| Al EHERME 0.8 )
SHB5H | A BRHERSME 0.7 )| A BRHERAME 0.8 )| Al BEHEAE 0.8 )
3H6H | A BREIRAE 0.8 ) | A (BHBRRE 0.9 ) | AFH BHEFRE 0.9 )
SHTH | Al BRIRSME 0.8 ) | AR BRILBYME 0.9 )| AL GRINRSYE 0.8 )
SH8H | A (BHRFME 0.8 )| AR (BRHRFME 0.8 )| A BRHRAYE 0.9 )
SHO9H | i GREFRFME 0.7 )| A RHEBRYME 0.7 ) | AR BHRMMYE 0.8 )
3H10H | Ak BRHEFYE 0.7 )| Ak (BHERAE 0.8 ) | AR (BHERYE )
SHILA | AR BRIERFE 0.8 ) | AR (BHRAYE 0.8 ) | Al GREIERFYE 0.9 )
SHI2H | e BRIMIRSME 0.7 )| A BRERAME 0.9 ) | R GRHEBRESRME 0.8 )
SH13A | Akt BRHIRFYE 0.7 )| AR BHEIRAE 0.8 ) | AR BHEFE 0.9 )
3H14 8 | Al GRERFYE 0.7 )| Ak BERAME 0.8 ) | AR BHRAMYE 0.9 )
3H 15 A | Al (BRHEFRFE 0.7 )| A (BiRAME 0.8 ) | Al RHERFYE 0.9 )
3SHI16 A | Al BRIRFYE 0.7 )| A (BEHRAYE 0.8 ) | Al BRHERFYE 0.7 )
SHI1TH | Akt BRHEFE 0.7 )| A (BHEEAE 0.8 ) | A (BHERSYE )
3H18H | Al BRHRFYE 0.8 )| At (BHERAE 0.8 )| A BHEFE 0.9 )
3H19A | ket GRIRFYE 0.7 )| AR BRIERAME 0.9 ) | ARl BRIIEEBSYE 0.9 )
3H20 R | Al BRHFRFME 0.8 ) | A (BEHRAME 0.8 ) | Al REERFE 0.9 )
3H21 B | Al BRHERSYE 0.8 )| Ak (BHERAME 0.9 ) | ARl (BHERAYE )
SH22H | Al BEHIRSME 0.8 )| A BRERAE 0.8 ) | Rl GRHRME 0.9 )
3H23H | Al BRHEFYE 0.8 )| AfH (BHRAE 0.8 )| Af (BHEFE 0.8 )
3H 248 | AR BRHIRSME 0.8 ) | A BRIRAE 0.8 ) | Al (BHFRSYE )
3H25 B | Al (BRHIRSME 0.7 )| A BRERAME 0.8 ) | Al GRHRSYME 0.9 )
3H26 R | Akt GRHERFYE 0.8 )| Ak BHERAME 0.9 )| AR BHRMYE 0.8 )
SH21T A | Al BRHFRFE 0.8 ) | A BEHRAME 0.9 ) | Al BRHEERFYE 0.9 )
SH28 A | Al (BRHRFYE 0.9 )| A BREHRAYE 0.9 ) | Al BREERFYE 0.9 )
SH29H | Ml BRHIRSME 0.7 )| A BRERAE . 0.8 ) | Rl GRHBRERME 0.8 )
3SH30H | A (BRHIRFME 0.7 )| A BERAE 0.8 ) | R GRHRFRE 0.9 )
3H3LA | At GBRHRFYE 0.8 )| AfH  BHERAME 0.9 )| AR BHERSYE 0.9 )
%1 BRKIER] @ /1Rl 6 Iy

X2 AR KEE Y —

%3

(BRHIRAME ) &%, MBIV TRIH TS S ir/MED
BAELTH, BiEZ & OB HBRAE
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5 RiR&KE (FEENIKR)

BT @ Ba/kg

sk A B v 5 )5 € SR AN )€ SE RN

(=2 3 131) (B 7 0 134) (7 40137)
SH1A | At GRIBFRAME 0.7 ) | Al GRIBEBAME 0.8 ) | AR BIIESME 0.8 )
3H2H | A GREEFRFYE 0.8 ) | A GRHIERFME 0.9 ) | AR BHRSYE 0.9 )
SH3H | A (BRHERFYE 0.8 )| A (BRERFME 0.8 )| A BRERAYE 0.8 )
SHA4H | A GRHRSME 0.7 )| A BRERYME 0.8 )| Al BEHBRAME 0.8 )
SHB5H | A BRHERSME 0.8 )| A BRHERAME 0.8 )| Al GBEHEEAE 0.9 )
3H6H | A BREIRAE 0.7 ) | A BHBRRE 0.9 ) | A (BHERE 0.9 )
SHTH | AL BRINERSME 0.7 )| AR BRIBYME 0.8 ) | Al GBRINRSYE 0.9 )
SH8H | A (BRHRFME 0.8 )| A (BRHRFME 0.9 )| A BRHRAYE 0.9 )
3HO9H | At GREEFRFUME 0.7 ) | A GRHEEFRYME 0.6 ) | AR BHRAMYE 0.6 )
3SHI10 A | Al BRHFRFE 0.8 ) | AR BHRAME 0.9 ) | Al BRHERFYE 0.8 )
SHILA | AR BRHRFE 0.7 )| A BHRAYE 0.9 ) | A GREIERFYE 0.8 )
SHI2H | e BRHIRSME 0.8 ) | A BRERAME 0.8 ) | Rl GRHBRESME 0.9 )
SHI13A | Ak BRHIRFYE 0.7 )| Ak BHEIRAE 0.8 ) | AR (BHIRYE 1)
3H14 B | Al GRHERFYE 0.7 )| Ak BHERAME 0.8 ) | AR BHRMMYE 0.9 )
3H 15 A | Al BRHERFYE 0.7 )| A BHRAE 0.8 ) | Al GRHERFYME 0.9 )
3H16 8 | ARt BRHEFYE 0.8 )| AfH  (BHERAE 0.8 )| Af BHRFME 0.9 )
SHITH | A BRMIRSFE 0.7 ) | A BRERAE 0.7 ) | Rl GRHERFRME 0.9 )
3H18H | Al (BRMEFYE 0.7 )| A8 BHEERAE 0.5 )| Al BHEFE 0.6 )
3H19A | Akt BRINIRFYE 0.7 ) | Ak BRIGERAME 0.9 ) | A BEHERSYE 1)
3H20H | Al BRIIRFME 0.7 )| A BEHRAME 0.8 ) | Al GREERFME 0.8 )
SH21H | Al GBRERFYE 0.8 )| Ak BHERAME 0.8 ) | A (BHRAME 0.8 )
SH22H | Al BEMIRFME 0.7 )| AEH BRERAE 0.8 ) | Rl GRHRME 0.9 )
3H23H | Ak BRMEFYE 0.8 )| Ak (BHRAE 0.6 )| Af BHEFE 0.9 )
3H24 0 | AR (BRIMIRSME 0.8 ) | A (BEHRAME 0.9 ) | Al GRHEBERME 0.9 )
3H25 B | AR BRIHIRSME 0.8 ) | A BRIHRAME 0.8 ) | Al (BRHHFRSYE 1)
3H26 0 | Akt GBRERFYE 0.8 )| Ak BHERAME 0.6 ) | AR BHERAMYE 0.9 )
3H2TH | Al BRMEFYE 0.8 )| AR BHRAE 0.7 )| Afl BHERME 0.8 )
3H28 8 | AR BRMEFYE 0.7 )| AfH  BHERAE 0.8 )| Af BHRFRE 0.9 )
3SH29H | Mt BRMIRSME 0.8 ) | A BERAME 0.7 ) | Rl GRHBREFRME 0.9 )
3SH30H | AR (BRIMIRSME 0.7 )| A (BERAME 0.8 ) | Rl GRHRRME 0.9 )
3H3LA | At BRHRFYE 0.7 )| A8 BRHERAME 0.8 ) | AR BHRSYE 0.9 )

%1 BRKIER] @ 71T 6 Iy

%2
%3

A  KEr X —

(BRHHIRFUE ) L id, BRAEICBW TRIETE Sk
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6 BEFKE (BEIIKR)

BT © Ba/kg
sk L Tt > v I B & 7 I
* (2 w3 131) (™ A 134) (£ ™ 4 137)
3A 1A | A GRIGEERE 0.7 )| AR (BREFRAE 0.7 )| A GRIGIERE 0.8 )
3HA8A | Ak GRIGIERME 0.6 )| AR (BRERFE 0.7 )| AR GRIGERE 0.8 )
3A 15 A | R GRHERE 0.7 )| AR RHERAE 0.6 )| FRE GRHEERME 0.7 )
3H22 B | Rt (BHERRE 0.6 )| Fal (RHEERE 0.6 )| ~eH GRHEBERE 0.9 )
3H 29 A | Rkl GRIBARE 0.8 )| PR (BRHERAE 0.6 )| FRE GREERME 0.8 )

X1 ERAKEERT PR O B

W2 AR KEEU X —

X3 TRHBAE) LiF, BECBVTRINTE 2H/MED = X 200 E T, HOHBEORE L LT, [ U
BAELTH. WBiko &@#Hﬂﬁi’%ﬁﬁi%@hbi% TARBH (BR HIR R0, 8) 1 & 1%, M Cox 2%
/MEDS 0.8Bq/kg THY . ZOKDOIE Y EREIL 10.8Bq/kg R TH 5 | _&%%%Li%

7 WMTHEKE (ZEIIKR)

HAT : Ba/ke
sk L S M ™ A BT > 4
7“ (a2 w3 131) (£ 4 134) (£ A 137)
3H2A | A GRIBEERME 0.8 )| AR (REFRAME 0.8 )| A GRIGEERME 0.9 )
3HOHB | Rl (BHEBERE 0.8 )| R BREERE 0.7 )| FHiE GRHEBERE 1)
3H 16 B | Ffa (BEBRRE 0.8 )| Rl (RHEERE 0.8 )| FhH GRHBEAE 0.9 )
3023 H | Rk GRIEIBARME 0.7 )| TR RHEBRAME 0.8 )| Rk GRIEERE 0.8 )
3H30 0 | AR GRIBIERE 0.9 )| A% (REFRFME 0.8 )| AR GRIGIERME 1 )

X1 ERAKHRR « 2T O By

2 AR KB L ¥ —

%3 THRIIRAME) 213, BEICB O CRINTE 25/MED = L 20\ ET, i @%r LT, FUHRT
BRALCh. BIK= L ORMEREIE LT L 4. REH (R 1R A0, 8) | a aHTx R

dﬁ%>08&M@‘f%D
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f
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8 Z=BFKE (FHRNI - SIFNIKR)

AT : Ba/kg
sk CUNCEDE B L B > 1
w (3 v 131) (B3 A 134) (E 7 A 137)

3HS5H | Al (BHIRFYE 0.7 AR (BHIRSAME 0.7 At BRHIBRAME 0.7

3AH12H | A (BHIRFHYE 0.5 TR (BHIRAME 0.8 Tt GBRHIBRAME 0.5

3A19H | A (RHIRFYE 0.8 At (BHIRAYE 0.8 Akt BRHIBRAME 0.9

~— [ [~ | —
N A N N

326 H | A (RERFYE 0.7 AR (BRHIPRSAME 0.7 Ak (BRHIPRSAME 0.7

X1 ERKEERE : ARl 9 IRE

X2 AR KEEU X —

X3 g HH B ST ) &ﬁ\ BREICBVTRIBTXAE/MEDZ & 2\ ET. KIEEOM L LT, [ Uikt
- A g

L
o I ARH BRHBRIED. 8) | &id, *ﬁu”j“C%'é
WEHEIT 10, 8Ba/ke A T D) =~ LB BEWLET,

%“Wr

9 Z=HEFKE (FIARI - FRNKR)

AT : Ba/ke
kA Btk a v Bttt > A B S A
i (3 w3 131) (™ A 134) (£ ™ A 137)

SH6H | A (tiRFME 0.6 TR (BRHIRAME 0.7 Tt BHRAME 0.6

3SAHI3H | i (BHIRFE 0.7 TR (BHIRAME 0.6

320 H | A (BREIRFYE 0.7 Ak BRI 0.8 At BRHIPRSAME 0.9

~— [ [~ |~
~— [ [~ |~

)
Tt RHERSAME 0.6 )
)
)

3A2TH | A (RHIRFYE 0.7 Al (BHPRAME 0.9 Akt (BRHIPRSAME 0.7

1 BRKEER ARG 9 KF
X2 MRAEMER o KERL X —
%3 TRHIRAYE) &%, RAICBW TR TE Di/MED Z L 20 W ET, B GEORHE

EL
BELTH, BiED &(D#Hﬂﬁi’% ] Lia“o [AHR H (i HH BRSO, 8) | RS BT ‘é
/MEY 0.8Ba/kg TH Y. ZOKDEHIMEDEIREL 10.8Ba/ke R THDH] = &%%‘%L T,



10 JiHKE (BEIKR)

BT : Ba/ke

sk e a o3& HEE T A W EE S T A

(g3 73 131) (B> A 134) (B> o A 137)
SHTH | M BERSYE 0.7 )| Akl GRERSME 0.7 ) | Al REESME - 0.8 )
SHI4H | At BRHIRFE 0.7 )| A BRERAE 0.9 ) | Rt GRHERFRME 0.9 )
3H21H | AR BERHRFE 0.8 )| AR (BHRAYE 0.7 ) | Ak GREIERFYE 0.9 )
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